PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

CLIENT:

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668

Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757 BB 10%, all docs appear to be in order American Asphalt Company, Inc. 116 Main Street W. Collingswood Hts, NJ 08059 (856) 456-2899 BB 10%, all docs appear to be in order

|     |   |       |      | BB 10%, all docs appear to | be in order  | BB 10%, all docs appo | ear to be in order | BB 10%, all docs appe | ear to be in order | BB 10%, all docs appe | ear to be in order |
|-----|---|-------|------|----------------------------|--------------|-----------------------|--------------------|-----------------------|--------------------|-----------------------|--------------------|
|     |   | QUAN' | TITY | UNITS                      |              | UNITS                 |                    | UNITS                 |                    | UNITS                 |                    |
| #   | DESCRIPTION   | & UN  | IITS | PRICE                      | TOTAL        | PRICE                 | TOTAL              | PRICE                 | TOTAL              | PRICE                 | TOTAL              |
|     | BASE BID  |       |      |                            |              |                       |                    |                       |                    |                       |                    |
| 1   | CLEARING SITE   | 1     | LS   | \$16,000.00                | \$16,000.00  | \$33,552.00           | \$33,552.00        | \$40,065.00           | \$40,065.00        | \$80,000.00           | \$80,000.00        |
| 2   | MILLING, 2" DEPTH   | 5900  | SY   | \$6.75                     | \$39,825.00  | \$4.36                | \$25,724.00        | \$5.40                | \$31,860.00        | \$8.00                | \$47,200.00        |
| 3   | HOT MIX ASPHALT SURFACE<br>COURSE, MIX I-5, 2" THICK  | 700   | TON  | \$93.50                    | \$65,450.00  | \$88.20               | \$61,740.00        | \$93.90               | \$65,730.00        | \$100.00              | \$70,000.00        |
| 4   | HOT MIX ASPHALT LEVELING<br>COURSE, MIX I-5 (IF &WHERE<br>DIRECTED)                           | 165   | TON  | \$66.05                    | \$10,898.25  | \$82.00               | \$13,530.00        | \$93.90               | \$15,493.50        | \$100.00              | \$16,500.00        |
| 5   | TACK COAT   | 870   | GAL  | \$6.80                     | \$5,916.00   | \$3.10                | \$2,697.00         | \$0.01                | \$8.70             | \$2.00                | \$1,740.00         |
| 6   | NOVA'PROXTREME SURFACE<br>SYSTEM, OR APPROVED EQUAL   | 5900  | SY   | \$30.90                    | \$182,310.00 | \$30.03               | \$177,177.00       | \$31.20               | \$184,080.00       | \$32.50               | \$191,750.00       |
| 7   | SOIL EROSION & SEDIMENT<br>CONTROL MEASURES   | 1     | LS   | \$11,000.00                | \$11,000.00  | \$16,773.00           | \$16,773.00        | \$11,775.00           | \$11,775.00        | \$10,000.00           | \$10,000.00        |
| 8   | SEALING OF CRACKS IN HOT MIX<br>ASPHALT SURFACE (IF & WHERE<br>DIRECTED)                      | 500   | LF   | \$5.00                     | \$2,500.00   | \$5.13                | \$2,565.00         | \$5.20                | \$2,600.00         | \$5.00                | \$2,500.00         |
| 9   | STABILIZATION GEOTEXTILE FABRIC,<br>PETROTAC 4591, OR APPROVED<br>EQUAL (IF & WHERE DIRECTED) | 120   | SY   | \$12.00                    | \$1,440.00   | \$14.00               | \$1,680.00         | \$21.30               | \$2,556.00         | \$10.00               | \$1,200.00         |
| 10  | TOPSOILING, 4" THICK  | 700   | SY   | \$4.00                     | \$2,800.00   | \$8.30                | \$5,810.00         | \$3.70                | \$2,590.00         | \$5.00                | \$3,500.00         |
| 11  | FERTILIZING AND SEEDING, TYPE A-3   | 700   | SY   | \$2.00                     | \$1,400.00   | \$2.77                | \$1,939.00         | \$1.60                | \$1,120.00         | \$2.00                | \$1,400.00         |
| тот | TOTAL BASE BID AMOUNT   |       |      |                            | \$339,539.25 |                       | \$343,187.00       |                       | \$357,878.20       |                       | \$425,790.00       |

PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

CLIENT:

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668 Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757 American Asphalt Company, Inc. 116 Main Street
W. Collingswood Hts, NJ 08059
(856) 456-2899
BB 10%, all docs appear to be in order

|     |   |      | BB 10%, all docs appear to | be in order | BB 10%, all docs appear to be in order |             | BB 10%, all docs appear to be in order |             | BB 10%, all docs appear to be in order |             |              |
|-----|---|------|----------------------------|-------------|--|-------------|--|-------------|--|-------------|--------------|
|     |   | QUAN | TITY                       | UNITS       |  | UNITS       |  | UNITS       |  | UNITS       |              |
| #   | DESCRIPTION   | & UN | IITS                       | PRICE       | TOTAL                                  | PRICE       | TOTAL                                  | PRICE       | TOTAL                                  | PRICE       | TOTAL        |
|     | ALTERNATE BID #1  |      |                            |             |  |             |  |             |  |             |              |
| 1   | CLEARING SITE   | 1    | LS                         | \$16,000.00 | \$16,000.00                            | \$33,552.00 | \$33,552.00                            | \$40,065.00 | \$40,065.00                            | \$80,000.00 | \$80,000.00  |
| 2   | MILLING, 2" DEPTH   | 5900 | SY                         | \$6.75      | \$39,825.00                            | \$4.36      | \$25,724.00                            | \$5.40      | \$31,860.00                            | \$8.00      | \$47,200.00  |
| 3   | HOT MIX ASPHALT SURFACE<br>COURSE, MIX 1-5, 2" THICK  | 700  | TON                        | \$93.50     | \$65,450.00                            | \$88.20     | \$61,740.00                            | \$93.90     | \$65,730.00                            | \$100.00    | \$70,000.00  |
| 4   | HOT MIX ASPHALT LEVELING<br>COURSE, MIX I-5 (IF &WHERE<br>DIRECTED)                           | 165  | TON                        | \$66.05     | \$10,898.25                            | \$82.00     | \$13,530.00                            | \$93.90     | \$15,493.50                            | \$100.00    | \$16,500.00  |
| 5   | TACK COAT   | 870  | GAL                        | \$6.80      | \$5,916.00                             | \$3.10      | \$2,697.00                             | \$0.01      | \$8.70                                 | \$2.00      | \$1,740.00   |
| 6   | PREMIER COURT SURFACE SYSTEM, OR APPROVED EQUAL   | 5900 | SY                         | \$31.50     | \$185,850.00                           | \$34.26     | \$202,134.00                           | \$33.25     | \$196,175.00                           | \$40.00     | \$236,000.00 |
| 7   | SOIL EROSION & SEDIMENT<br>CONTROL MEASURES   | 1    | LS                         | \$11,000.00 | \$11,000.00                            | \$16,773.00 | \$16,773.00                            | \$11,775.00 | \$11,775.00                            | \$10,000.00 | \$10,000.00  |
| 8   | SEALING OF CRACKS IN HOT MIX<br>ASPHALT SURFACE (IF & WHERE<br>DIRECTED)                      | 500  | LF                         | \$5.00      | \$2,500.00                             | \$5.13      | \$2,565.00                             | \$5.20      | \$2,600.00                             | \$5.00      | \$2,500.00   |
| 9   | STABILIZATION GEOTEXTILE FABRIC,<br>PETROTAC 4591, OR APPROVED<br>EQUAL (IF & WHERE DIRECTED) | 120  | SY                         | \$12.00     | \$1,440.00                             | \$14.00     | \$1,680.00                             | \$21.30     | \$2,556.00                             | \$10.00     | \$1,200.00   |
| 10  | TOPSOILING, 4" THICK  | 700  | SY                         | \$4.00      | \$2,800.00                             | \$8.30      | \$5,810.00                             | \$3.70      | \$2,590.00                             | \$5.00      | \$3,500.00   |
| 11  | FERTILIZING AND SEEDING, TYPE<br>A-3  | 700  | SY                         | \$2.00      | \$1,400.00                             | \$2.77      | \$1,939.00                             | \$1.60      | \$1,120.00                             | \$2.00      | \$1,400.00   |
| ТОТ | AL ALTERNATE BID #1 AMOUNT  |      |                            |             | \$343,079.25                           |             | \$368,144.00                           |             | \$369,973.20                           |             | \$470,040.00 |

PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

CLIENT:

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668 BB 10%, all docs appear to be in order Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757 BB 10%, all docs appear to be in order American Asphalt Company, Inc. 116 Main Street W. Collingswood Hts, NJ 08059 (856) 456-2899 BB 10%, all docs appear to be in order

| <b></b> | Y   | BB 10%, all ducs appear to | 50 117 0100 |            |             |
|---------|---|----------------------------|-------------|------------|-------------|
|         |   | QUANTITY                   |             | UNITS      |             |
| #       | DESCRIPTION   | 4U &                       | IITS        | PRICE      | TOTAL       |
|         | ALTERNATE BID #2  |                            |             |            |             |
| 1       | CLEARING SITE   | 1                          | LS          | \$8,000.00 | \$8,000.00  |
| 2       | MILLING, 2" DEPTH   | 50                         | SY          | \$20.00    | \$1,000.00  |
| 3       | HOT MIX ASPHALT SURFACE<br>COURSE, MIX I-6, 2" THICK  | 185                        | TON         | \$122.20   | \$22,607.00 |
| 4       | HOT MIX ASPHALT LEVELING COURSE,<br>MIX I-6 (IF & WHERE DIRECTED)                             | 75                         | TON         | \$66.00    | \$4,950.00  |
| 5       | TACK COAT   | 10                         | GAL         | \$11.00    | \$110.00    |
| 6       | NO ITEM   | 0                          | N/A         | \$0.00     | \$0.00      |
| 7       | SOIL EROSION & SEDIMENT<br>CONTROL MEASURES   | 1                          | LS          | \$7,500.00 | \$7,500.00  |
| 8       | SEALING OF CRACKS IN HOT MIX<br>ASPHALT SURFACE (IF & WHERE<br>DIRECTED)                      | 30                         | LF          | \$5.00     | \$150.00    |
| 9       | STABILIZATION GEOTEXTILE FABRIC,<br>PETROTAC 4591, OR APPROVED EQUAL<br>(IF & WHERE DIRECTED) | 20                         | SY          | \$12.00    | \$240.00    |
| 10      | TOPSOILING, 4" THICK  | 360                        | SY          | \$4.00     | \$1,440.00  |
| 11      | FERTILIZING AND SEEDING, TYPE A-3   | 360                        | SY          | \$2.00     | \$720.00    |
| 12      | ROADWAY EXCAVATION EARTH  | 10                         | CY          | \$100.00   | \$1,000.00  |
| 13      | BITUMINOUS MATERIAL<br>RECLAMATION, VARIABLE DEPTH  | 1540                       | SY          | \$10.20    | \$15,708.00 |
| 14      | DENSE GRADED AGGREGATED BASE<br>COURSE, VARIABLE DEPTH  | 60                         | CY          | \$34.00    | \$2,040.00  |
| 15      | PRIME COAT  | 140                        | GAL         | \$11.00    | \$1,540.00  |
|         |   |                            |             |            |             |

| 100) 113-3131      |                    | (000) 400-2000   |       |  |  |
|--------------------|--------------------|--|-------|--|--|
| 10%, all docs appe | ear to be in order | BB 10%, all docs appe  | ear t |  |  |
| UNITS              |                    | UNITS  |       |  |  |
| PRICE              | TOTAL              | PRICE  |       |  |  |
|                    |                    |  |       |  |  |
| \$1,539.60         | \$1,539.60         | \$5,635.00   |       |  |  |
| \$5.85             | \$292.50           | \$12.65  |       |  |  |
| \$112.80           | \$20,868.00        | \$112.00   |       |  |  |
| \$82.00            | \$6,150.00         | \$112.00   |       |  |  |
| \$10.25            | \$102.50           | \$0.01   |       |  |  |
| \$0.00             | \$0.00             | \$0.00   |       |  |  |
| \$5,640.00         | \$5,640.00         | \$4,900.00   |       |  |  |
| \$5.13             | \$153.90           | \$7.45   |       |  |  |
| \$14.00            | \$280.00           | \$62.20  |       |  |  |
| \$8.30             | \$2,988.00         | \$3.70   |       |  |  |
| \$2.77             | \$997.20           | \$1.60   |       |  |  |
| \$51.29            | \$512.90           | \$216.00   |       |  |  |
| \$5.85             | \$9,009.00         | \$6.80   |       |  |  |
| \$51.29            | \$3,077.40         | \$54.35  |       |  |  |
| \$4.90             | \$686.00           | \$0.01   |       |  |  |
|                    | •                  | - ALL INC. ALL MANUEL COLL PRINCIPE WHITE COLL PRINCIPE WAS A STATE OF THE PRINCIPE WHITE COLL PRINCIPE WAS A STATE OF THE PRINCIPE WAS A STAT |       |  |  |

| be in order | BB 10%, all docs appear to be in order |             |  |  |  |  |  |
|-------------|--|-------------|--|--|--|--|--|
|             | UNITS                                  |             |  |  |  |  |  |
| TOTAL       | PRICE                                  | TOTAL       |  |  |  |  |  |
|             |  |             |  |  |  |  |  |
| \$5,635.00  | \$10,000.00                            | \$10,000.00 |  |  |  |  |  |
| \$632.50    | \$50.00                                | \$2,500.00  |  |  |  |  |  |
| \$20,720.00 | \$150.00                               | \$27,750.00 |  |  |  |  |  |
| \$8,400.00  | \$150.00                               | \$11,250.00 |  |  |  |  |  |
| \$0.10      | \$5.00                                 | \$50.00     |  |  |  |  |  |
| \$0.00      | \$0.00                                 | \$0.00      |  |  |  |  |  |
| \$4,900.00  | \$2,500.00                             | \$2,500.00  |  |  |  |  |  |
| \$223.50    | \$50.00                                | \$1,500.00  |  |  |  |  |  |
| \$1,244.00  | \$25.00                                | \$500.00    |  |  |  |  |  |
| \$1,332.00  | \$5.00                                 | \$1,800.00  |  |  |  |  |  |
| \$576.00    | \$5.00                                 | \$1,800.00  |  |  |  |  |  |
| \$2,160.00  | \$100.00                               | \$1,000.00  |  |  |  |  |  |
| \$10,472.00 | \$10.00                                | \$15,400.00 |  |  |  |  |  |
| \$3,261.00  | \$10.00                                | \$600.00    |  |  |  |  |  |
| \$1.40      | \$3.00                                 | \$420.00    |  |  |  |  |  |
|             |  |             |  |  |  |  |  |

PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

CLIENT:

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668 BB 10%, all docs appear to be in order Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757 BB 10%, all docs appear to be in order American Asphalt Company, Inc. 116 Main Street W. Collingswood Hts, NJ 08059 (856) 456-2899 BB 10%, all docs appear to be in order

|     |  | DD 1070, all does appear to be in order |             |            |             |
|-----|--|---|-------------|------------|-------------|
|     |  | QUAN                                    | TITY        | UNITS      |             |
| #   | DESCRIPTION  | & UN                                    | IITS        | PRICE      | TOTAL       |
| 16  | ACRYLIC COURT RESURFACER,<br>COLOR PAINTING AND LINE<br>STRIPING                           | 1430                                    | SY          | \$7.00     | \$10,010.00 |
| 17  | CANTILEVERED POST, SIX FOOT<br>EXTENSION (MODEL # 479), GAME TIME,<br>OR APPROVED EQUAL    | 6                                       | UN          | \$1,600.00 | \$9,600.00  |
| 18  | BACKBOARD, CAST ALUMINUM (MODEL # 854), GAME TIME, OR APPROVED EQUAL                       | 6                                       | UN          | \$900.00   | \$5,400.00  |
| 19  | BREAK-AWAY GOALS, HEAVY DUTY,<br>NYLON NETS (MODEL # 874), GAME TIME,<br>OR APPROVED EQUAL | 6                                       | UN          | \$400.00   | \$2,400.00  |
| 20  | CONCRETE SIDEWALK, 4" THICK  | 0                                       | SY          | \$0.00     | \$0.00      |
| 21  | BORROW EXCAVATION, SELECTED MATERIAL   | 7                                       | CY          | \$100.00   | \$700.00    |
| тот | AL ALTERNATE BID #2 AMOUNT   |   | \$95,115.00 |            |             |

| (800) 773-5757<br>BB 10%, all docs appear to be in order |                   |   |  |  |  |  |  |
|--|-------------------|---|--|--|--|--|--|
| UNITS  | al to be in order | Ì |  |  |  |  |  |
| PRICE  | TOTAL             |   |  |  |  |  |  |
| \$6.95   | \$9,938.50        |   |  |  |  |  |  |
| \$1,700.00   | \$10,200.50       |   |  |  |  |  |  |
| \$850.00   | \$5,100.00        |   |  |  |  |  |  |
| \$283.00   | \$1,698.00        |   |  |  |  |  |  |
| \$0.00   | \$0.00            |   |  |  |  |  |  |
| \$51.00  | \$357.00          |   |  |  |  |  |  |
|  | \$79,591.00       |   |  |  |  |  |  |

|  | BB 10% |
|--|--------|
| BB 10%, all docs appear to be in order UNITS PRICE TOTAL |        |
| \$7.30 \$10,43   | 39.00  |
| \$1,610.00 \$9,66  | 60.00  |
| \$900.00 \$5,40  | 00.00  |
| \$390.00 \$2,34  | 40.00  |
| \$0.00   | \$0.00 |
| \$153.00 \$1,07  | 71.00  |
| \$88,46  | 7.50   |

PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

CLIENT:

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668 BB 10%, all docs appear to be in order Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757 BB 10%, all docs appear to be in order American Asphalt Company, Inc. 116 Main Street W. Collingswood Hts, NJ 08059 (856) 456-2899 BB 10%, all docs appear to be in order

|    |  | I INITS  |     |            |             |
|----|--|----------|-----|------------|-------------|
|    |  | QUANTITY |     | UNITS      |             |
| #  | DESCRIPTION  | & UNITS  |     | PRICE      | TOTAL       |
|    | ALTERNATE BID #3   |          |     |            |             |
|    |  |          |     |            |             |
| 1  | CLEARING SITE  | 1        | LS  | \$8,000.00 | \$8,000.00  |
| 2  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 3  | HOT MIX ASPHALT SURFACE<br>COURSE, MIX I-6, 2" THICK             | 170      | TON | \$126.90   | \$21,573.00 |
| 4  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 5  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 6  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 7  | SOIL EROSION & SEDIMENT<br>CONTROL                               | 1        | LS  | \$5,000.00 | \$5,000.00  |
| 8  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 9  | NO ITEM  | 0        | N/A | \$0.00     | \$0.00      |
| 10 | TOPSOILING, 4" THICK   | 340      | SY  | \$5.00     | \$1,700.00  |
| 11 | FERTILIZING AND SEEDING, TYPE A-3                                | 340      | SY  | \$2.00     | \$680.00    |
| 12 | ROADWAY EXCAVATION EARTH   | 5        | CY  | \$100.00   | \$500.00    |
| 13 | BITUMINOUS MATERIAL<br>RECLAMATION, VARIABLE DEPTH               | 1470     | SY  | \$10.50    | \$15,435.00 |
| 14 | DENSE GRADED AGGREGATE BASE<br>COURSE, VARIABLE THICKNESS        | 20       | CY  | \$40.00    | \$800.00    |
| 15 | PRIME COAT   | 15       | GAL | \$12.00    | \$180.00    |
| 16 | ACRYLIC COURT RESURFACER,<br>COLOR PAINTING AND LINE<br>STRIPING | 1430     | SY  | \$7.00     | \$10,010.00 |

| 00) 773-5757       |                    | (856) 456-2899        |                   |  |  |  |  |
|--------------------|--------------------|-----------------------|-------------------|--|--|--|--|
| 10%, all docs appe | ear to be in order | BB 10%, all docs appe | ar to be in order |  |  |  |  |
| UNITS              |                    | UNITS                 |                   |  |  |  |  |
| PRICE              | TOTAL              | PRICE                 | TOTAL             |  |  |  |  |
|                    |                    |                       |                   |  |  |  |  |
|                    |                    |                       |                   |  |  |  |  |
| \$1,539.60         | \$1,539.60         | \$5,850.00            | \$5,850.00        |  |  |  |  |
| \$0.00             | \$0.00             | . \$0.00              | \$0.00            |  |  |  |  |
| \$112.80           | \$19,176.00        | \$116.20              | \$19,754.00       |  |  |  |  |
| \$0.00             | \$0.00             | \$0.00                | \$0.00            |  |  |  |  |
| \$0.00             | \$0.00             | \$0.00                | \$0.00            |  |  |  |  |
| \$0.00             | \$0.00             | \$0.00                | \$0.00            |  |  |  |  |
| \$4,032.60         | \$4,032.60         | \$4,350.00            | \$4,350.00        |  |  |  |  |
| \$0.00             | \$0.00             | \$0.00                | \$0.00            |  |  |  |  |
| \$0.00             | \$0.00             | \$0.00                | \$0.00            |  |  |  |  |
| \$8.30             | \$2,822.00         | \$3.70                | \$1,258.00        |  |  |  |  |
| \$2.77             | \$941.80           | \$1.60                | \$544.00          |  |  |  |  |
| \$51.29            | \$256.45           | \$245.00              | \$1,225.00        |  |  |  |  |
| \$5.85             | \$8,599.50         | \$7.00                | \$10,290.00       |  |  |  |  |
| \$51.29            | \$1,025.80         | \$115.95              | \$2,319.00        |  |  |  |  |
| \$10.25            | \$153.75           | \$0.01                | \$0.15            |  |  |  |  |
| \$6.95             | \$9,938.50         | \$7.30                | \$10,439.00       |  |  |  |  |

| UNITS       |             |  |  |  |
|-------------|-------------|--|--|--|
| PRICE       | TOTAL       |  |  |  |
|             |             |  |  |  |
| \$10,000.00 | \$10,000.00 |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$150.00    | \$25,500.00 |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$2,500.00  | \$2,500.00  |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$0.00      | \$0.00      |  |  |  |
| \$5.00      | \$1,700.00  |  |  |  |
| \$5.00      | \$1,700.00  |  |  |  |
| \$100.00    | \$500.00    |  |  |  |
| \$10.00     | \$14,700.00 |  |  |  |
| \$20.00     | \$400.00    |  |  |  |
| \$20.00     | \$300.00    |  |  |  |
| \$7.50      | \$10,725.00 |  |  |  |

PROJECT NAME:

REHABILITATION & RESURFACING OF VARIOUS TENNIS & BASKETBALL COURTS (MILLCREEK TENNIS COURTS)

PROJECT NUMBER:

0338T056

**CLIENT:** 

TOWNSHIP OF WILLINGBORO

Nickolaus Construction Company Inc. PO Box 2322, 1794 Route 70 Vincentown, NJ 08088 (609) 859-8668

Frye's Athletic Surfaces, Inc. 244 Helig Road Mullica Hill, NJ 08062 (800) 773-5757

American Asphalt Company, Inc. 116 Main Street W. Collingswood Hts, NJ 08059 (856) 456-2899

American Athletic Courts, Inc. 2050 Route 206 Vincentown, NJ 08088 (609) 859-1414

| BB 10%, all docs a |  |      | BB 10%, all docs appear to | r to be in order BB 10%, all docs appear to be in order |             |            | BB 10%, all docs appe | ear to be in order | BB 10%, all docs appear to be in order |            |             |
|--------------------|--|------|----------------------------|---|-------------|------------|-----------------------|--------------------|--|------------|-------------|
|                    |  | QUAN | UANTITY UNITS              |   | UNITS       |            | UNITS                 |                    | UNITS                                  |            |             |
| #                  | DESCRIPTION  | & UN | IITS                       | PRICE   | TOTAL       | PRICE      | TOTAL                 | PRICE              | TOTAL                                  | PRICE      | TOTAL       |
| 17                 | CANTILEVERED POST, SIX FOOT<br>EXTENSION (MODEL # 479), GAME<br>TIME, OR APPROVED EQUAL    | 6    | UN                         | \$1,600.00  | \$9,600.00  | \$1,700.00 | \$10,200.00           | \$1,610.00         | \$9,660.00                             | \$2,500.00 | \$15,000.00 |
| 18                 | BACKBOARD, CAST ALUMINUM<br>(MODEL # 854), GAME TIME, OR<br>APPROVED EQUAL                 | 6    | UN                         | \$900.00  | \$5,400.00  | \$850.00   | \$5,100.00            | \$900.00           | \$5,400.00                             | \$1,000.00 | \$6,000.00  |
| 19                 | BREAK-AWAY GOALS, HEAVY DUTY,<br>NYLON NETS (MODEL # 874), GAME<br>TIME, OR APPROVED EQUAL | 6    | UN                         | \$400.00  | \$2,400.00  | \$283.00   | \$1,698.00            | \$390.00           | \$2,340.00                             | \$250.00   | \$1,500.00  |
| 20                 | CONCRETE SIDEWALK, 4" THICK  | 5    | SY                         | \$200.00  | \$1,000.00  | \$63.00    | \$315.00              | \$600.00           | \$3,000.00                             | \$200.00   | \$1,000.00  |
| 21                 | BORROW EXCAVATION, SELECTED MATERIAL   | 7    | CY                         | \$100.00  | \$700.00    | \$51.00    | \$357.00              | \$246.00           | \$1,722.00                             | \$50.00    | \$350.00    |
| тот                | TOTAL ALTERNATE BID #3 AMOUNT \$8  |      |                            |   | \$82,978.00 | į          | \$66,156.00           |                    | \$78,151.15                            |            | \$91,875.00 |